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Solve the folloWing 1*-order differential equations.

a. (10%) xsin(y)y'=cos(y)

b. (10%) e’dx+ (xe* —1)dy =0, y(5)=0

c. (10%) y' +(tanx)y=secx
1 2
d. (10% "+ =
(10%) e2x+1y ezx+1y .

Show that the following functions y;, (x) and yz(x) are linear independent, and then find the corresponding

tomogeneous 2"-order differential equation.

a. (10%) y,(x)=e* cos(4x), y,(x)=e™** sin(4x)

b, (10%) y,(x)=x°, y,(x)=x"Inx
Please solve the following 2"%-order differential equations..

a. (10%) »"—=2y' -3y =sin’x
b. (10%) 3" -3y +2y = cosle™)
c. (10%) x°y"—2xy'+2y=x"coshx

d. (10%) x*y"—4xy'+6y =Inx*




